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Advanced Algebra
Unit 7: Probability Assignment #6

1) Mr. Roark teaches three classes. Each class has 20 students. His first class has 12 sophomores,
his second class has 8 sophomores, and his third class has 10 sophomores. If he randomly
chooses one student from each class to participate in a competition, what is the probability that
» he will select three sophomores.

o He will select exactly three sophomores
s He will select at least three sophomores

Soph, Soph, Sophe 19X EXIO

The tree is started below:

%0
Sogh,5ogh, WO Sogh 13- Cxio
/g@\%) Soh, 0O Sogh, Soph- 18 11x (O
0N, Soh, no, D VIx Ix/w
9\/%0 sb%. 00, Sop, Soph X &% 10

T
A

Sophomore

No- :

Sophomore cﬁ.-— : c . '
\Z .
0 e, nO, NO, Soph- @ X)L /D

w o
o 00, "D N0 Fxe 12x)/0)

1} What is the probability that he selects exactly 2 sophomores?
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2) What is the probability that he will select no sophomores? %w
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3) What is the probability he will select at least 1 sophomore? (5 i e ]Qk"j
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What is the probahility that he will select at least 2 sophomores? Q/-Dj
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2) A notional advertisement says that every puffed-barley cereal contains a toy and that the toys are
distributed equally. Gina wants to collect a complete set of the different toys from the cereal boxes.

a) If there are two different toys, what is the probability that she WI|| fmd both of them in her first two
boxes? 5 D)

b) If there are three different toys, what is the probability that she will have them all after buying her
first three boxes? - /®/
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